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[l XA TR D fn

% Al

9+9y+7—3y+6a+4y

1+6a—4a—4x+7—y

S5y —9—6X+2—7x—3

—8y+2+6a—8Xx—3x+7x

—b5x—6a—5x+8x—2Xx—5X%

5X+9x—8x+8a—8a-+6a

—y+6—7Xx+7x+x—b5a

—4+3—5a—5—9—xX

—3X—7x+y—9a—4—9

—bha+x—8+3+1+3a

7—2-+2a+4y+2x+4x

a—3y—5—6x+7x+7a

13)

(14)

(15)

(16)

a7

18)
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(22)

(23)

(24)

A H o v

—6a+2at+4y—1—3+4a

—9a—5XT6+3a+6yr8

4da—2a—7y—8y—8x+y

—2a+9a+3a+5—5x+1

—7a+8X+8Xx—9y+6Xx—2

—6bx—7a+4—2y+3y+3

2ata+5x+6a—4y—6

—5-+4y+4x+6y+2y—4a

8+7a—1+2x—5—8a

2X—9a+8y—2+5y—3y

y+5a—9—2a—9x—3x

9y —1+9—x—3a—by



[l XA TR D fn

% Al

1 9+9y+7—3y+6at+dy
= 16+6a-+10y

@ 1+6a—4a—4x+7—y

= 8+2a—4x—y

3 5y—9—6Xx+2—7x—3

— —10—13x+5y

@ —8y+2+6a—8x—3X+7X

— 2+6a—4x—_8y
(6) —5x—6a—5x+8x—2x—5x
= —6a—9x

6 5Xx+9x—8x+8a—8a-+6a
= 6a—+6Xx

(D —y+6—7X+7X+X—5a
— 6—5a+x—y

® —4+3—5a—5—9—x

= —15—5a—x

© —3Xx—7Xx+y—9a—4—9
— —13—9%a—10x+y

100 —b5a+x—8+3+1+3a
— —4—2a+X

1D 7—2+2a+4y-+2x-+4x
— S5+2a+6x+4y
a—3y—5—6x+7x+7a

= —5+8a-+x—3y

13)

(14)

(15)

(16)

a7

21)

(22)

(23)

(24)

A =

4

—6a+2at+4y—1—3+4a
—4+4y
—9a—b5bx+6+3a+6y+8
14—6a—5x—+06y
4da—2a—7y—8y—8x+y
2a—8x—14y
—2a+9a+3a+5—5x+1
6+10a—>5x
—7a+8X+8Xx—9y+6Xx—2
—2—T7a+22x—9y
—6bx—7a+4—2y+3y+3
[—Ta—6x+y
2a+a+5x+6a—4y—6
—6+9a+5x—4y
—5-+4y+4x+6y+2y—4a
—5—4a—+4x+12y
8+7a—1+2x—5—8a
2—a—+2Xx
2X—9a+8y—2-+5y—3y
—2—9a+2x+10y
y+5a—9—2a—9x—3x
—9+3a—12x+y

9y —1+9—x—3a—by
8—3a—x+4y



